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An image lens assembly includes, in order from an object side to an image side, a first lens element, a
second lens element, a third lens element, a fourth lens element and a fifth lens element. The first lens element
with positive refractive power has an object-side surface being convex at a paraxial region thereof. The
second lens element with refractive power has an object-side surface being concave at a paraxial region
thereof. The third lens element with negative refractive power has an object-side surface being convex at a
paraxial region thereof and an image-side surface being concave at a paraxial region thereof. The fourth lens
element with positive refractive power has an object-side surface being concave at a paraxial region thereof
and an image-side surface being convex at a paraxial region thereof. The fifth lens element with negative
refractive power has an image-side surface being concave at a paraxial region thereof and having at least
one convex shape at an off-axis region thereof, wherein the surfaces of the fifth lens element are aspheric.
The image lens assembly has five lens elements with refractive power. When the image lens assembly

satisfies a specific condition, the assembling interference can be avoided.
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An image lens assembly includes, in order from an
object side to an image side, a first lens element, a second
lens element, a third lens element, a fourth lens element and

a fifth lens element. The first lens element with positive
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refractive power has an object-side surface being convex at a
paraxial region thereof. The second lens element with
refractive power has an object-side surface being concave at
a paraxial region thereof. The third lens element with
negative refractive power has an object-side surface being
convex at a paraxial region thereof and an image-side
surface being concave at a paraxial region thereof. The
fourth lens element with positive refractive power has an
object-side surface being concave at a paraxial region
thereof and an image-side surface being convex at a paraxial
region thereof. The fifth lens element with negative
refractive power has an image-side surface being concave at
a paraxial region thereof and having at least one convex
shape at an off-axis region thereof, wherein the surfaces of
the fifth lens element are aspheric. The image lens
assembly has five lens elements with refractive power.
When the image lens assembly satisfies a specific condition,

the assembling interference can be avoided.
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HPREGAMNEKE X_BE BB PHIFERE XK

B

14

He» k RFEREHBAEAPOHEEE > Al-Al6
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HIRRERMESH 1-16 BIEFREIRE - L4 > U T & E i fl
KEDHERERAN TSEBEGEZHBEE > REPHE
NEREHE—BHANKR —KX_MNEEMHEE > #HT
0% st -
<55 = i B>

[0057] F2WMEIBREIB HPEIBERTIKBAR
HE BN —EEeE N AR ER £ 4 BEES
EREFESE_EEANEGE N ENRE « RN RS

@ w-mzETA B mEANEERSEEYEE
BAKFEESE—FEHE 210 SLE 200 55 - FH 220 3%
BY 201 - B =B H 230 - BB 240 - BEEH 250 - 4T
SR AR TERR L E 270 - BB TE 260 LR %8 R EI 5T 4 280 »
HbEaEREaEEREIT INEERE AK -

[00s8] %5 —EH 20 EEEREFH EBUBME  HY
BIFE 211 EXRMESNE LGHRE 212 FXEES
ME > LEBSERE -

@ (09 BoEm2EEaARES EREEHE £y
fHizRm 221 A v HESME > HEGHAFT 222 EXEHES
ME W EBIERE -

[0060] B=FEH 20 AHEREFH AEEBME &Y
Blz=m 231 A CEMES M EH > EEGAREKE 232 FXEHES
M WERFERED BE=ZFHEHBAIFXE 232 HgHE E
F—0mmE -

[0061] ZEUEHE 240 EFEREIFT > EREBME Y



1495899

BlRm 241 SEXEERBME  HEARE 242 A XEHE S
dhiE M R IEERE -
[0062) E AEHE 250 EF &R
flzm 251 A bR B E >
M > WERIFEKRET - HERE
B -

[0063] H b AIHARIEFRRENX F 270 M E B I 7 -
ENREAZEH 250 MG E 260 > YA BEE&ERHH
My B -
[0064]

nH EREBME  HY
HGRRE 252 BCHE R
HGHIRE 252 BEEE R

/\ DX

FEZ2RBTIER=ZDIAERNTE -

nllll

\

x= - E-HFHEH

f(£E8E) = 2.95 mm, Fno(3¥:E{#E) = 1.80, HFOV(4R[EH) = 36.5 FF

FKH HRP BEE ME | e EERE IR
0 WY THE IR

] FE—FEHE | 1375 | ASP | 0.495 ]S 1.544 55.9 3.03
2 7.206 | ASP | 0.070

3 K iH 0.130

4 BT | -4575 | ASP | 0.250 EE)iz s 1.514 56.8 -65.32
5 -5.396 | ASP | -0.027

6 B wii | THh 0.208

7 EESE | 3928 | ASP | 0.250 2l 1.640 23.3 -11.75
8 2516 | ASP | 0.243

9 ZEPUESE | -1.389 | ASP | 0.560 )iz 1.544 55.9 2.02
10 -0.700 | ASP | 0.291

11 PHFES | 5015 | ASP | 0320 el 1.544 55.9 -2.18
12 0.939 | ASP | 0.220

13 ﬁgifﬁ ~E 0.300 B 1.517 64.2 -
14 FH 0.574

15 FARE TH
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] 223245 £ (d-line) S 587.6 nm
Z<H 6 FLIEAR/NY—4E 0.680 mm
= - JEERmEFRE
RE 1 2 4 5 7
= -1.0115E+01 | 1.2016E+01 | -6.7878E+01 | 4.5244E+01 6.7395E+00
A4 = 4.5299E-01 | -8.8851E-03 7.0391E-02 | -1.8098E-02 | -9.2670E-01
A6 = -7.2019E-01 | -3.6764E-02 | -2.0308E-01 | -3.2462E-01 | 2.0067E+00
A8 = 8.6906E-01 | -4.8884E-01 8.0430E-01 1.2177E+00 | -1.1553E+01
A10= | -5.4858E-01 | 1.6328E+00 | -1.8949E+00 | -9.6576E-01 | 2.5306E+01
® A12= | -1.3081E-01 | -2.4191E+00 | 4.5714E+00 | 1.6192E+00 | -1.8833E+01
Ald= 1.5632E-01 1.4373E+00 | -3.2282E+00 | -1.2809E+00
F<HE 8 9 10 11 12
k= -5.2842E+00 | -1.8655E+01 | -3.0435E+00 | -3.2928E+01 | -6.4036E+00
A4 = -1.6544E-01 | -4.6869E-01 | -4.4107E-01 | -2.8149E-01 | -2.2058E-01
A6 = -1.2877E+00 | 1.7364E+00 | 8.5297E-01 2.2641E-01 1.8051E-01
A8 = 6.2622E+00 | -2.6645E+00 | -1.5773E+00 | -1.7408E-01 | -1.2289E-01
A10= | -1.8673E+01 | 1.0905E+00 | 1.9889E+00 | 8.4950E-02 4.9276E-02
A12= | 3.1054E+01 1.1299E+00 | -1.0666E+00 | -1.9609E-02 | -1.0773E-02
Ald= | -2.6370E+01 | -9.2425E-01 1.8489E-01 1.6648E-03 9.8010E-04
Al6= | 8.8879E+00
. [0065])

E_HHEA S FERENHBRSEARTUE &
R - lH > TRMAASHETHROEREHE—F
HE B AR F > AE BE A 0 LU At -

[0066] Bl EX=RENAHEELH TI &HE :
£ 7 e pl
f (mm) 2.95 (R1-R2)/(R1+R2) -0.68
Fno 1.80 (R5-R6)/(R5+R6) 0.22
HFOV (f%) 36.5 R5/R6 1.56
V3/V2 0.41 12 -0.05
T12/CT2 0.80 f1/3 -0.26




1495899

T12/T23 1.10 £3/|£2] -0.18
CT4/(CT2+CT3) 1.12 £/£4+|f/£5| 2.81
SAG32/CT3 -0.28
<FE=F >

[0067] 2 WBE SERE 6B HHE SBEERKBARSE
BHE—ERAN—EBEEGEFEANTER 8 6 BHAE
ERFRE-ERINGSHEEFHENWEKE - QB K E i
BE - HE SEATHN EZBERINEGREFHHEYDAE
GEKFESE —FEHE 310 XE 300 5 _FH 320 -
=3E 330 BEIUESE 340 FEAHFEHE 350 AL BRIERIE
JE R 370~ B TE 360 DA R4 BRI JT 4 380 H i B
FABEEFNITINEHERS AR -
[0068] 25 —ZEE 30 AFEREFT N EBEBME  EY
B RE 311 AEHMERE > HEHRE 312 5XHE S
hE > MERIERE -
[0069)] 5 —ZEE 3200 EFERIT N BEEBME  EY
BIRE 321 AXEERSME » HGAIKRE 322 5XEHES
® ME  WEBIERE -
(0070 2E=ZFHM 330 EFAREITH EBEBME HPY
BIRE 3BLAHMERGE > HBEAIRE 332 5 XHES
M > YWESHERXRE BE=ZHEGAIFXHE 332 BH#EER
H—-0E -
[0071] ENEHE 340 BEEFERET N EBEBME  HY
fIRE 341 AXHESME > HEHRKRE 342 AL HES
iE  WMEBIEKRE -

18
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[0072] EARZEH3S0EFEEN N HREBME  HY
BIzmE 351 EtEE R E > HEGEHRE 352 0 tHER
M > EESBIERET - HER HEA KT 352 BEHEIE R
H—dhE e

[0073] HE o - AT AR UEBRIER F 370 MM E R I » KK
BNRELZESH 350 B m 360 EAEEEGEHME

Hy £E BE -
° [0074] FBEEEZBTIHERALUKRERNS -
XA - H=HE M
f(EERE) = 3.25 mm, Fno(KFE{E) = 2.20, HFOV(4EA) = 38.0 fE
FRME PR JEE ME | TR |(EERE £iE
0 WY TmH R
1 HE—E8E | 2.128 | ASP | 0.446 )i 1.544 55.9 3.68
2 -30.806 | ASP | 0.068
3 S i 0.233
4 IS | -4.069 | ASP | 0.364 Eri)iZS 1.544 55.9 133.03
5 -3.974 | ASP | 0.117
6 B=3EE | 11.707 | ASP 0.283 HR 1.650 21.4 -10.94
. 7 4382 | ASP | 0.199
8 HUUEsE | -1.767 | ASP 0.791 pe)izs 1.544 55.9 1.60
9 -0.675 | ASP | 0.162
10 FEHES | 22.188 | ASP 0.449 HRB 1.535 55.7 -1.79
11 0910 | ASP | 0.600
FARSS S
12 ZN 0.200 1.51 4.2
o M e 517 6
13 | 0.693
14 52 E3c] ~HE
ZZ R (d-line)E 587.6 nm
=N - FEERBEFEHK
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xH 1 2 4 5 6
= -2.0841E+01 -5.1920E+00 -1.0873E+01 1.8472E+01 1.9694E+01
A4 = 2.2824E-01 -2.5448E-02 5.3586E-02 -2.4314E-01 -8.4800E-01
A6 = -3.7497E-01 3.0018E-02 -2.0893E-01 7.5077E-02 9.8361E-01
A8 = 4.1075E-01 -3.1125E-01 2.1218E-01 2.0868E-02 -3.6464E+00
AlQ0 = -3.0651E-01 5.1384E-01 -6.8640E-01 -8.3006E-01 6.5700E+00
Al2 = 2.2359E-02 -5.3873E-01 8.5507E-01 1.8528E+00 -3.5737E+00
Al4 = 2.6592E-02 2.4287E-01 -4.7358E-01 -8.5226E-01
= 7 8 9 10 11
k= -3.0000E+01 -3.0000E+01 -3.1873E+00 -1.0000E+00 -7.3605E+00
. A4 = -3.3416E-01 -4.8026E-01 -3.7557E-01 -1.5940E-01 -1.4198E-01
A6 = -3.9530E-01 8.3678E-01 4.8832E-01 1.1165E-01 9.4715E-02
A8 = 2.3288E+00 -8.5730E-01 -6.0223E-01 -6.8175E-02 -4.8220E-02
Al0 = -5.5349E+00 3.6383E-01 5.7412E-01 2.4378E-02 1.4521E-02
Al2 = 7.1043E+00 2.4293E-01 -2.3988E-01 -4.3567E-03 -2.3596E-03
Al4 = -4 .4549E+00 -2.0951E-01 3.4206E-02 3.5739E-04 1.5670E-04
Al6 = 1.0429E+00
[0075) =BG+ FEREWHEFEAEZRUE—F
BRI - b4 TERAMZ2HFFTFIECESTHE —F
e B AE[E > 1F Ao BLE Ak -
[0076) BEE&E XA MREANTHELE TH EEHE
‘ B =E K
f (mm) 3.25 (R1-R2)/(R1+R2) -1.15
Fno 2.20 (R5-R6)/(R5+R6) 0.46
HFOV (/%) 38.0 R5/R6 2.67
V3/V2 0.38 ) 0.02
T12/CT2 0.83 £1/£3 -0.34
T12/T23 2.57 3/22| -0.08
) CT4/(CT2+CT3) 1.22 4-+5/15)| 3.85
SAG32/CT3 -0.66
<ZFE N T il >

[0077] SFE2RE TERFESHEH HPE TERETKRBER

s i}

20
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BHENEHEAN —EEGREFEAN T EER £ SBHAE
ERFBENERAANEGRERFHANKRE - BB KEdh il
mE - -BHE TETH FNERANESREFEEDAE
GBHEKFOEE —EHE 410 - KB 400 2 _FH 420 F
ZEHE 430 FEIUEE 440 - FHFEHE 450 AN FIERIE
R 470 - KR THE 460 DL K & 15 BRI TT 4 480 0 H i 5 5
FHABEEFEREFINBEHESAK -
[0078] ZE—ZH 410 EFEREIT N EBEBME  EY
BIRE 411 AXWHERTE > EEHEKRE 412 EXEHES
ME > WESBIERE -
[0079] E_—ZEH 20 EF AR EBERBME  HY
HIRE 421 EXXEHERSME > EEBHERE 422 FXHE S
MTE c WEEBIERE -
[0080] E=ZFH 430 EFEREIT 1 EBEBME HY
BIRME 431 AEEE B E > HEGHARE 432 5 MES
ME > EBFRE BE=ZFZHGHURE 432 BaEE
® - rnm-
[0081] EIUEH 40 EBFERIT  EEEBEME Y
fIRTE 441 CEHESME HEHRE 442 OAXLWMES
hE > EESBIERE -
[0082)] B HEHASOEFEAREIT H EBEBME  HY
fIRE 451 AKEE R OE > EEGAIKRE 452 AL #MES
MiE > TESHFRE > HERAZHGAIERT 452 #EhE L
HF—OiE -

21
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[0083] Hoh- AISMMREEREHF 4TOMM BRI E > HE
BREAEH 450 EHEKGHE 460 ] T A EREBERHE

M E R -
[0084] FEHAEZBETIHIEREUREN -
=t - £ M EH S
fIEERR) =2.78 mm, Fno(3¥:B{iE) = 2.10, HFOV(4EiE ) = 38.3 &

KE fhER P EE %K=} R (aERE| H£iE

0 HwEY T fERR
' 1 E—FEH | 1384 | ASP 0.439 prelizs 1.544 55.9 2.75

2 16.635 | ASP 0.030
3 S TH 0.183
4 BFEE | -3.424 | ASP 0.202 frzlizd 1.639 23.5 -15.27
5 -5.396 | ASP 0.219
6 E=FE8 | 97.686 | ASP 0.202 BRE 1.639 23.5 -11.01
7 6.559 | ASP 0.143
8 HEUUESE | -1.483 | ASP 0.679 rzlid 1.535 55.7 2.35
9 -0.789 | ASP 0.030

10 B|HEE | 1.770 | ASP 0.527 przlid 1.535 55.7 -3.31
11 0.794 | ASP 0.600

RLYL SR vEER
12 . TmH 0.300 822 1.517 64.2 -
' XA

13 HE 0.387

14 A% Tm| -
SR (d-line) & 587.6 nm
F/\~ FEEREREK

RHE 1 2 4 5 6
k= -1.0862E+01 | -1.8293E+00 6.5504E+00 2.0000E+01 2.0000E+01
Ad = 4.6184E-01 -2.3618E-02 2.9427E-02 -1.8143E-01 -1.0294E+00
A6 = -6.9200E-01 -3.6764E-02 -1.9999E-01 1.1830E-01 1.5642E+00
A8 = 8.0481E-01 -4.8884E-01 8.0874E-01 -2.5895E-01 -1.0138E+01

22
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Al0 = -5.4858E-01 1.6328E+00 -1.8886E+00 -9.6994E-01 2.4089E+01
Al2 = -1.3081E-01 -2.4191E+00 4.5714E+00 6.7551E+00 -1.7071E+01
Al4 = 1.5632E-01 1.4373E+00 -3.2379E+00 -6.1205E+00
FRE 7 8 9 10 11

k= -7.8574E+00 -3.0000E+01 -2.2551E+00 -3.0000E+01 -5.0047E+00
Ad = -2.8741E-01 -3.9810E-01 -4.0519E-01 -2.8313E-01 -2.3403E-01
A6 = -9.8172E-01 1.7224E+00 8.6209E-01 2.3576E-01 1.9375E-01
A8 = 6.3224E+00 -2.4430E+00 -1.5972E+00 -1.7290E-01 -1.2669E-01
Al10 = -1.8736E+01 8.4890E-01 1.9693E+00 8.4747E-02 4.9336E-02
Al2 = 3.0925E+01 1.1033E+00 -1.0737E+00 -1.9849E-02 -1.0536E-02
Al4 = -2.6370E+01 -8.5000E-01 1.9993E-01 1.6399E-03 9.4108E-04

‘ Al6 = 9.0063E+00

[0085) B PUEMEAHI @  EREWHBRAEXRIUE &

he B B9 7 =0 o BE 4 o
e B AH [E] > 7E L AN o DL &t -

T 3R f At 2

[0086] BE&RERE/N\THELTH HIE

ZENHOEREHEE —F

2 E i Hl

f (mm) 2.78 (RI-R2)/(R1+R2) 20.85

Fno 2.10 (R5-R6)/(R5+R6) 0.87

HFOV (%) 38.3 R5/R6 14.89

V3/V2 1.00 702 0.18

() T12/CT2 .05 f1/3 025

T12/T23 0.97 B3/2] 0.72

CT4/(CT2+CT3) 1.68 {/E4+015] 2.02

SAG32/CT3 0.4
<HE HE >

[0087) :HZ2HEEIBESE 10 » HdE IBRETEBA
ZHELERIN —EEGGRERFEAVRER £ 10BHAE
EERKFEERLERINEBGEREANERE B8 EEH

MiE - HE SBTH  BLERINEGEFAHEY A

23
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E@ K E RS E —EH 510 KB 500 % B8 520 -
B E G 530 BB 40 EAEE 550 - LA BREE
VR 570 BT 560 MR B BT 4 580 Ko &
W BER B SE K -
[0088] % —BH SI0RAEEREF N DSEBEHE £
BI%E S SEXBMBOE @R 512 5 66k S
ME S ERE -
[0089] % —iE# 20 EHARF N ABEBHE » HW
Bl 521 ERMESHE L EEET 522 FXMES
E A ERE -
[0090] H=iFE% 530 BEHAREF N ABBEBME 2y
BI%E 531 EXMMBOE  LEEET 532 5 kS
ME WS BERE BB EHEEET 532 M kA
5 -
[0091] % UBH 40 AEERY S ABBEHE £
Bl 541 EHBESME LEERE 542 FEMMES
Q® . vxsEmE-
(0092] HABH SSORBAERS EBEBHE £
B S| EXMBBOE  LEEET 552 5 kLS
ME EEAERE ASASHEERT 552 EHEA
- -
[0093) i ch + T 4k 48 ¥ 08 WK 5 570 B9 44 B B BE 78 R 5B
BT B 550 BIRIEE S60 1 0 LR B @
# 55 -

24



1495899

[0094) FEHEZHETIEAURET -
=L FEALERKH
f(E£2E) = 2.66 mm, Fno(FE{#) = 2.00. HFOV(4RiEA) = 40.0 fF
Ei]] HhERPE EE HE | TR EERE £
0 #EY M R
] E—FEE | 1253 | ASP 0.465 prlizs 1.544 55.9 3.01
2 4.620 | ASP 0.058
3 S HE 0.155
4 BBTIES | -4.732 | ASP 0.202 riliz s 1.639 23.5 -68.28
5 -5.396 | ASP 0.181
6 E=3ESE | 14937 | ASP 0.202 prilizs 1.639 23.5 -22.98
7 7.365 | ASP 0.145
8 EBUUESE | -1.518 | ASP 0.681 priliz 1.535 55.7 1.87
9 -0.698 | ASP 0.030
10 EHFES | 2349 | ASP 0.490 prefizd 1.535 55.7 211
11 0.708 | ASP 0.500
AL SR TR ER
12 . HE 0.300 G 1.517 64.2 -
XA
13 Z~H 0.306
14 A% R -
2 W R (d-line)5 587.6 nm
=+ -~ FEERHE AR
<E 1 2 4 5 6
= -8.3698E+00 1.6036E+01 -5.2595E-01 2.0000E+01 2.0000E+01
Ad = 5.1103E-01 -2.0548E-02 -1.1543E-01 -2.7406E-01 -7.5688E-01
A6 = -6.7870E-01 -3.6764E-02 -1.9999E-01 -1.7656E-02 1.4736E-01
A8 = 9.1192E-01 -4.8884E-01 8.0874E-01 1.2874E+00 -4.3327E+00
Al0= -5.4858E-01 1.6328E+00 -1.8886E+00 | -6.1393E+00 1.2491E+01
Al2 = -1.3081E-01 -2.4191E+00 4.5714E+00 1.5954E+01 -9.1126E+00
Ald = 1.5632E-01 1.4373E+00 -3.2379E+00 | -1.2476E+01
=HE 7 8 9 10 11

25
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k= 1.7283E+01 -3.0000E+01 -3.4193E+00 -3.0000E+01 -5.0940E+00
A4 = -1.1685E-01 -3.5240E-01 -5.0968E-01 -3.3516E-01 -2.2303E-01
A6 = -1.4942E+00 1.4832E+00 9.0582E-01 2.8896E-01 1.8847E-01
A8 = 6.7669E+00 -2.1208E+00 -1.5169E+00 -1.9031E-01 -1.1628E-01
Al0 = -1.8397E+01 8.0739E-01 1.9081E+00 8.4647E-02 4.2006E-02
Al2 = 3.0118E+01 8.7562E-01 -1.1153E+00 -1.9144E-02 -8.2160E-03
Al4= -2.6370E+01 -7.2963E-01 2.3159E-01 1.6040E-03 6.6179E-04
Al6 = 9.3786E+00
[0095) EAEHAF FREWHRSTELARIUE—F

OB - ot TEFRSBEE N E RS EE — &
W6 G A8 F > 7E IR A0 DA it -

[0096] BL & X N ERETHHEL T & :
B HE A
£ (mm) 2.66 (R1-R2)/(R1+R2) -0.57
Fno 2.00 (R5-R6)/(R5+R6) 0.34
HFOV (%) 40.0 R5/R6 2.03
V3/V2 1.00 2 -0.04
T12/CT2 1.05 £1/£3 -0.13
T12/T23 1.18 £3/|£2| -0.34
CT4/(CT2+CT3) 1.69 £/E4-+{£/£5| 2.68
SAG32/CT3 -0.47
<5 N H g pl >
[0097)] H2WE INEBEKRE 128 > E55E 11 BRSKE

ABEPRBANEBEHRINW —BESGEFENTIER > % 12 BB
EEERFREFAEBHEINGGHGERFEANKREZ BB AE
M ARE - BHE BTN FAEEINEEERFEHY
BZGAKFESOLE 6005 —FH 610~ 5 —FH 620
FZFEH 630 FEUESH 640 - LA FEH 650 - ALAFRIERR
WOt 670~ BB 1E 660 IR £ B Bl 680 Hhig&
REHMEREITINERESAK -
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(0098] % —EHGI0EBLEREIF N ABEBEME 29
BIRE 611 EXMESME  LHAKRE 612 FXsms
ME A SIERE -

[0099) % =58 20 L AEEH N ESWEHE EY
B 621 EABMAESME  HEMERE 622 FXHES
ME L EBIERE -

[010] $=F&EOEEARENRH ASEBHE 2y
BIRE 631 EXMBESNE LEAIKE 632 F L& ES
ME LESERE AESBEHGHRE 632 HuEa
BN

[0101] HUEH HOEBELERENH AEBEBKE 29
BIERE 641 EXBMBDNE » LEAIKT 642 558K S
ME WS IERE -

(012] HAEBEHGSOEBAREF N ESEBHE  £Y
BIEE 651 M AMBRME  LHARE 652 F L MES
ME > GEBERE LB EEGERE 652 Bk A
B —E -

[0103] H b AL4SRIEBR WL F 670 A E S 38 » 2 3B
BRAEAES 650 ENIRE 660 B > W R B BEEE LA
4 6 -

(014) HEESHETHET —LUREF—

X+ — - BAHEKMBL

fIEEER) = 2.69 mm, Fno(GERE{E) = 2.20. HFOV(4:78£8) = 39.6 FF

KIH BHERPE BE | ME | iR |GERY SE

27
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0 WY FH IR

1 p 55 FH -0.140

2 E—FEH | 1320 | ASP | 0.351 el 1.544 55.9 2.99

3 6320 | ASP | 0.234

4 BETIES | -4360 | ASP | 0.277 B 1.544 55.9 -46.10

5 -5.396 | ASP | 0.101

6 FE=3FEHE | 6999 | ASP | 0.220 el 1.639 23.5 -28.01

7 4969 | ASP | 0.243

8 ZEIYES | -2.153 | ASP | 0.680 ol 1.535 55.7 1.84

9 -0.751 | ASP | 0.030

10 BHEH | 3864 | ASP | 0.550 ]S 1.535 55.7 -1.80

1 0.733 | ASP | 0.400

RLIMERIERR

12 o HE 0.300 b 1.517 64.2 -

13 THE 0.319

14 Ip%EE] 7R E] -

2 (d-line)5 587.6 nm
T+ - JEREHRE
FRE 2 3 4 5 6
= -6.6873E+00 | 1.7312E+01 2.0000E+01 2.0000E+01 | -3.0000E+01
A4 = 3.5043E-01 -5.1472E-02 | -8.4250E-02 | -5.4785E-01 -7.5557E-01
A6 = -4.1087E-01 -3.6764E-02 | -1.9999E-01 6.0308E-01 -3.1392E-01
A8= 5.2584E-01 -4.8884E-01 8.0874E-01 -1.6415E+00 | 1.0388E+00
Al0 = -5.4858E-01 1.6328E+00 | -1.8886E+00 | 4.0217E+00 | -2.0369E+00
Al2= -1.3081E-01 | -2.4191E+00 | 4.5714E+00 | -4.2085E+00 | 2.7870E+00
Al4= 1.5632E-01 1.4373E+00 | -3.2379E+00 | 2.3184E+00
FRHE 7 8 9 10 11
= 1.3286E+01 | -3.0000E+01 | -3.9315E+00 | 3.4973E+00 | -4.5539E+00

Ad= -1.5100E-01 -1.1873E-01 -5.0658E-01 -4.9040E-01 -2.1368E-01
A6 = -1.3233E+00 | 2.4145E-01 9.3230E-01 3.5243E-01 1.7074E-01
A8 = 6.4119E+00 | -1.3308E-01 | -1.5459E+00 | -1.8824E-01 -9.8603E-02
Al0= -1.7733E+01 | -2.2627E-01 1.8225E+00 7.8596E-02 3.4114E-02
Al2= 2.9100E+01 2.6992E-01 -1.0992E+00 | -2.2341E-02 | -6.5554E-03
Al4= -2.6370E+01 | -1.9952E-01 2.5668E-01 3.3651E-03 5.3151E-04
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Al6 = 1.0233E+01

[0105] EAERHAF  FHRENERIEAXRTOE &
AN ER - 4 TRAMRZEETHROEZRETEAE -8
e B AH & - FE kLA 0 LA & i -

[0106] B &R+ —RET-ZAHEL T EE

BN E e fl

f (mm) 2.69 (R1-R2)/(R1+R2) -0.65
Fno 2.20 (R5-R6)/(R5+R6) 0.17
HFOV (%) 39.6 R5/R6 1.41
® V3/V2 0.42 2 -0.06
T12/CT2 0.84 f1/3 -0.11
T12/T23 2.32 £3/|£2] -0.61
CT4/(CT2+CT3) 1.37 64+ 165 2.96

SAG32/CT3 -0.24

<FE t & Hl>

[0107] H2WE 3B KE 148 HFE 13 EQRKE
ABHEECERIVW—ELEGEFHENTEE 5 14EH
EEZEARFEELCERAINGGHRFENREZ  BHEE
e ARE - HE 3BT FELBEHINEERFEAEY
® HEGAKFLESE —BZH 710 LB 700 2 —FH 720 -
BE=F8 730 FEMHEH 740 EAFEHE 750 - AL R IEER
WX H 770 - & m 760 DA R &£ & BBl JTTH 780 H i &
A ERERBEIT INEREBS ALK -
[0108] ZE—ZEHE 7TI0EBFEREIW N EBEBBME  HY
BIZRE 711 AXHESNME EGERE 712 8XHES
M - EESIERE -
[0109] £ —_FEH| 20 BB AR EBEBME  EY

29
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BizRm 721 At EHEBME - HEAKRE 722 TXH#HER
thiE v M EBIEERE o

[0110] HE=ZH MBOEFEEN N HREBHE HY
flzm 731 tERE RME > HEARE 732 0t#HER
M EEHERIERET HE=ZZHEGARE 732 BwEE
H—OHE -

[0111] B UZEH T40EFEEHT I HEEBME HY
ficm 741 bR RME > HEAKRE 742 T EE B
hiE v M ERIERTE o

[0112] EAZHTS0EFARER N EBEBME HY
flxm 751 B8R R E > E&EAKRE 752 A CEE S
i LEBHKE  BFEFAZHEGARE 752 BEEhE R
H—m| e

[0113] Hoh - [T RIEREXS 770NN ESHEE > K
BERBAER 750 Eaim 760 H > U AEEEGEHEFAE
G E

[0114] HEESSBRBTIXRIT=ZLURE+TD -

aul

XKT=Z FELEHEHH

f(EEHE) = 2.91 mm, Fno(3EEE{E) = 2.20, HFOV(4RiE ) = 37.3 &

FKME HZRPE BEE ME | TR |aBRE| £
0 =Y FH R
1 B|/—EH | 1326 | ASP | 0.450 poiliZS 1.544 55.9 2.57
2 22.263 | ASP | 0.019
3 HHE TH 0.129
4 FTES | 2951 | ASP | 0.153 prelizs 1.650 21.4 -10.28
5 -5.396 | ASP | 0.194
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6 E=FH | -51.350 | ASP 0.277 i)z 1.650 21.4 -6.28
7 4445 | ASP | 0.256
8 FEIUEEE | -4.078 | ASP 0917 ri)izs 1.543 48.7 2.13
9 -0971 | ASP | 0.464
10 EBHZESHE | 1.705 | ASP 0.311 prelizs 1.583 30.2 -2.41
11 0.719 | ASP | 0.500
AR S 47
. 12 . H 0.300 61372 1.517 64.2 -
N il
13 T~H 0.100
) 14 FRA%E ~HE -
Z2Z R (d-line)E 587.6 nm
F+ M~ JEERE R
}HE 1 2 4 5 6
= -7.7642E+00 | -3.0000E+01 | -1.8699E+01 2.0000E+01 2.0000E+01
Ad = 4.2788E-01 3.7381E-02 8.8493E-02 3.5244E-02 -5.3533E-01
A6 = -5.2493E-01 -3.6764E-02 -1.9999E-01 -1.9146E-01 1.4695E-01
A8 = 7.3819E-01 -4.8884E-01 8.0874E-01 1.7054E+00 -5.2692E-02
Al0 = -5.4858E-01 1.6328E+00 | -1.8886E+00 | -5.7116E+00 | -2.1878E-01
Al2= -1.3081E-01 -2.4191E+00 | 4.5714E+00 1.1718E+01 3.8155E-02
Al4 = 1.5632E-01 1.4373E+00 | -3.2379E+00 | -8.2556E+00
FRMHE 7 8 9 10 11
‘ k= -2.2635E+01 -3.0000E+01 | -3.2549E+00 | -2.9434E+01 | -5.0173E+00
Ad = -2.4110E-01 -7.9401E-02 -2.6525E-01 -2.4492E-01 -1.1456E-01
A6 = 7.7675E-02 -7.2761E-02 2.6796E-01 1.7050E-01 5.4021E-02
A8 = 7.1874E-01 2.3815E-01 -2.9255E-01 -6.2876E-02 -1.3648E-02
Al0= -1.8569E+00 6.9900E-03 1.9822E-01 1.3903E-02 1.0234E-03
Al2= 2.4129E+00 -2.5622E-01 -5.0224E-02 -1.6849E-03 1.6175E-04
. Ald = -1.8697E+00 1.2766E-01 3.2298E-03 8.4159E-05 -2.3630E-05
Al6= 6.8272E-01
[0115) SELEmAIF FEREAHGE HFREXLET

BEIKER - L4 TERAEZHEFROEER

He I A8 [F - FE b A 0 LA Sl -
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[o116] EEaR +=RETMHATHEL TI EE -

£t E ks

£ (mm) 2.91 (R1-R2)/(R1+R2) -0.89
Fno 2.20 (R5-R6)/(R5+R6) 1.19
HFOV (%) 37.3 R5/R6 -11.55
V3/V2 1.00 12 -0.28
T12/CT2 0.97 f1/£3 -0.41
T12/T23 0.76 £3/£2) -0.61
CT4/(CT2+CT3) 2.13 T4+ /15| 2.57

SAG32/CT3 0.01

@ [(01V7] HMAXFHEUTBAABEM L AHIL AL
REAFER  EAHAEBHEKEE  ETRBEAZHIBENH
FEBEA > EUFR2ENESHEEN NI AZHOKE
HEEREAWHNAFENEEBMAEERE -

[RFBREREA ]
[0118)
S.B : 100~ 200~ 300~ 400~ 500~ 600~ 700

e St R : 201
% —3E4$ 110210~ 310~ 410~ 510~ 610~ 710
Y FE®E 111~ 211~ 311~ 411~ 511~ 611~ 711
eEFEE 112212~ 312~ 412~ 512+ 612~ 712
B 5ES 120~ 220~ 320~ 420~ 520 ~ 620 ~ 720
MIEIFEE - 121 ~ 221~ 321~ 421 ~ 521~ 621 ~ 721
e EIEE © 122~ 222 ~ 322~ 422 - 522~ 622~ 722
B =3E8 - 130~ 230~ 330~ 430~ 530 630 730
W= E : 131~ 231~ 331~ 431~ 531~ 631~ 731
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GRIZFE : 132232~ 332 432 532~ 632 732
HEDUSESS 0 140 - 240 - 340 - 440 - 540 - 640 - 740
Y EIFRE : 141 - 241 ~ 341 ~ 441 - 541 ~ 641 ~ 741
G| FRE : 142 -~ 242~ 342 - 442 ~ 542 - 642 - 742
HFEE 150 250~ 350 - 450 ~ 550 - 650 - 750
WEIFE : 151 ~ 251~ 351 ~ 451~ 551 ~ 651 ~ 751
G| FE : 152~ 252~ 352~ 452~ 552~ 652+ 752
BB : 160~ 260 - 360 ~ 460 ~ 560 660 - 760
KA TEBRIEEH - 170~ 270~ 370~ 470~ 570~ 670 ~ 770
B (% I T4 180 - 280 -~ 380 - 480 ~ 580 - 680 « 780
P RERRE AN ER
o: KGR MK EME
HFOV : @R ERFMHEFERR AN —F
2 B _FEHNAHMAREK
3 E-ZEHNAHRER
T12: 55— FEH B 5 — 5% 8 R OL 8 b &9 5 B BB B
O s mmeim=iEE Rk E R
CT2: E_ZHENRN AU EHEE
CT3: E=ZHN XU LHVEE
CT4: EUNEHFRNA XU LELNEE
SAG32: E=ZHBAXTEN XM LXEEZTHURE & K
HEHERAE R E EBIKT AL B
1 B —ZFZHYHRENHEFK
2 B -FEHBAXRENHESLK

=

33



1495899

RS : % =i #i % I % B 40 8 K £ 15
R6 : 55 =35 # % B % & 09 i % 9 3

fl: BE—FEHFNEHR
f2: B _FHEWER
f3: B =_ZFEHNEHE
f4: BNEHERERR
f5: FRAFEHRWER
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104 402 B 26 85 E4#44R

FH & B ) &6 (B
L EBREKE  ANHERNKEES
—EH REEEFR) AVBRETAHES

—$-FH BEARFH EYWAEREECEHESRSM

—E=FHE BEEAREWN  EVAREBAOXLHER
ME EGAEEEXEHESME - B H G 6k R EhE
BEEEAL—-—0OH

—FBNEE BEEREFN EVAREDAOALHERS
M > HEefREaX#ERoE @ UK

— S LEHE BEEAREFN  EBAREAOCHER
ME > BEHGAXEHGEEFSEY —DHE > EHYPHEExE
EEgEfxEEBIERE

HPZEGEFEEERETINEERAN » ZF =
EEWNEES 2 ZEZFEHEWEES 3 ZF_ZEHER
M FHEES CT2 ZFE—ZHREXE - FHNLHE L
WRIMEERES TI2 ZE_EHFEZEZFHNLH LY
RifEiE s s T23 > EWE TIIGRE -

20.90 < f3/|f2[ < 0 :

0.65 < T12/CT2 <1.15: AR

0.75 < T12/T23 < 7.5 =

2. WMIFHKE WEeBERFEA HPZAE_FHEAX
HEXEE RCE °
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104 502 B 26 B E4%#47

3. M RKE2HWEGREAIE HPEZE—ZFWHE
HHHMELES R ZE—ZEHGAXREBABERFER
2 HmE THHMH

(R1-R2)/(R1+R2) < -0.3 «

4. MIFREIHWEGHEFE HPZAEGEHFENE
ES > ZXE_ZEHOEER 2 HWmE TIIHEAF

-0.50 < f/f2 < 0.15 »

5. MMEFERBEIWRBERFFE > H P XE ZFEHERCH
FHEES CT2 ZE=ZZFHNXHBLHWEER CT3 > 3%
BENEHEMNIXBLEHNEERS CT4 HmE TIHRHE -

1.05 < CT4/(CT2+CT3) < 2.5«

6. WFERE2WEGBEHE  HPZE_EHFNEBEL
REB V2 ZE="FHOEOHMREE V3> HmE Tl
(EEE

0.3 <V3/V2<0.6>

7. WEFEKRKBE 1IWEGRAFE HPZE-—EENVEIE
Bl ZE=ZFHRVWEERS 3> HE TIHEHG -

-0.60 < f1/f3 <0 -

8. MFKB THREEHFERE HPZHBF=FHDAKEK
HHHELREES RS ZE-ZHFGRAURTDAAHRFER
6 HmE T oA :

0 < R5/R6 -

0. WMFHFKE THHEGEHRHE  EE

—XE RENZIE—ZHFUFIFEZEFEERMH -
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104 02 B 26 B E4#R

10. 20 KE | WEGSHFE EFZHE_ZHVE
EE DR FE=ZFZEHNEES 3> EmE TIHREF -
-0.45 < f3/|f2] < 0 =
1. —ENgREE > Ba
mEEkE 1WEGEHERHE S UK
—EGRETH  EERZXEGHEAE -
12. —HEEGERFE BHBYRAZGAKEE
E—FH EFERERIMH  EVAREDEXHER

N E

— 5 _FE BERFTN EYWEAXREEXH#HESM
®

—E=FE BEFEERETN  EBAXREEXLHES
ME

_ENES BEERFN EVWEAREECHES
ME EREREELMESME MR

_EHEEH REEREFN HENEEEXHES
VT EEGEEEMMEASES —NE - EUARE
RiGEEES SERE -

HEhEGEEAEERR INEHEBEN BB
EHOEES N YESSENEES 63 XE-BHERN
R FOEES CT2  RE—S@ENE - EFN L L
GEBEES T2 FE_FEEZE=FHNLH LY
MGIEEES T23 S —FEMHEENHELEE R
SE—EHGAEENHELEE R LWL TIEE
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104 #02 B 26 B4 EH4R

-0.90 < f3/|f2] < 0 ;

0.65 <T12/CT2 <2.0:

0.75 < T12/T23 <2.4; Dl &

(R1-R2)/(R1+R2) <0 -

13. NFERE 120 EGRHFEH EPZFEZERGH
XEHEMERESEES—DE -

14. WFEKRE BHEGEHREFA EPZEGHEAFED
ERES ( BENESHENEERES (4 ZELEHRNVEER
50 HwE T IRAE

2.0 < f/f4+|f/f5] < 5.0 -

15. fNsFkE B ERBEFE HEPFZE_ZEHNE
EE DR ZXE=ZFHEMWEER 3 HEE TIIGHRMF -

-0.70 < f3/]f2] < 0 -

16. WIEFEKIE I2WEBRBERME ERFZXE=ZFHNKA
HMEMEES CT3 HE=ZZHZAXRENR LB EREE
ZEHEAEEHRARERBMERNLH EN KT UBERES
SAG32» Hm2 Tyl A -

-1.5 < SAG32/CT3 <0~

17. MIFRE 6 WEGSEFEA HPZEGEERED
EESf ZE_ZEHENEES 2 HimE TIHEHF -

-0.5 < f/f2 < 0.15-

18. MFEHERKE I2WEGHEFEA EPZFE=ZEHRYH
FEHMHELEB RS ZEZHEGAXRANHEFER
6 HwmETI &M
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104 02 B 26 B4 E#%AE

0 < (R5-R6)/(R5+R6) < 1 »
19. MNEFRE 12HEGHEFE EFZXBE-ZHNE
EEfl ZE=ZFHOEER 3> HWmE TIHEH
-0.60 < f1/f3 <0 -
200 —EEGREFH VA ERAKEFES
E—EH BEEEHN  HYARELXHRER
&
—EoFEHm BEREF N RVEEEE XS ESM
|
—B=FH BEEEENH HYHARELALHER
ME HEAXREOCHEERSME ¢
—ENEH BEEEREMH HYWAXREOALEER
ME  EGAREOtHERO®E @ MKk

—EREH BFEEENN HBEAREOLAHER
ME HEGHEXEBRSEEFSESL —OEH EYAXRE
kG xEERERE

HhZEeRFEREEFTFINERE AR > ZFEZ
ZEHEMEER 2> ZB=EHOVEER 3> ZF_FEHERN
KM EFHEER CT2 ZIE—ZEHFUZBE - EHNLWM L
WERREBRS TI2 ZE_EZHFHEUZXBEFZHFNLHEH LW

MRS T23 > Hm2E T I HEGF
20.90 < £3/|f2] < 0 ;
0.65 < T12/CT2 <2.0; L&
0.75 < T12/T23 < 2.4 o
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~

104 502 A 26 a#%E4%4E

21. WIEFRE 2009 GEHAE HPZXE—ZFZHDA
FEMNHELRBE R  ZE—ZHEGAREHNHERFLERS
R2 HmR2E T3 &G

2.0 < (R1-R2)/(R1+R2) < -0.3 ¢

22. MFRBE200BEEBEHFE HPZEEEFEY
EES (ZEUNEENEES (M ZELEHENEER
fs» HimE T &G -

2.0 < f/f4+|f/f5] < 5.0 o

23. WIFERBB 200 FEGBEHRFE EFZE_ZHNE
EE R ZEZFHENVEES 3 EWmE THIHHE

-0.70 < f3/|f2] < 0 -

24, MIF KRB0 9EGRBEAHE HPZE=ZFHFENKX
M EMEES CT3 ZE-"ZHGAREMN L ERXEE
ZEBEHREEAERRBRUEBEALE LV KFABERERS
SAG32 - HiumRZE T oK & :

1.5 < SAG32/CT3 < 0 -
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